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HR(PHE) =% R CHE) % B8 (GIRER) JAL | JTA/RAC ,600 47%
EER 4 (B8 | JTA/RAC|  JAL 600 47%
HRE(PHE)=R1E RRCHE) % S (GRER) JAL | JTA/RAC ,000 48%
KB (BA7E) JAL JTA ,000 53%
aEH 748 (B%) | JTA/RAC|  JAL ,000 48%
KR (FH =%@sl | KBR(PEFH R | BRCHE) JAL JAL ,300 50%
LI Fm) [ JAL JAL ,300 49%
ESHES HR (CFE) JAL JAL 36,300 50%
LIE (T [ JAL JAL 36,300 49%
KBk (FAdE) =%k@5l | KB (FAE) % | HxCHE) JAL JAL 36,300 50%
ARG [ JAL JAL 36,300 49%
ESHES FR (FE) JAL JAL 36,300 50%
AR (TR | JAL JAL 36,300 49%
KR (5 =)l ABR (51 % CHH) JAL JAL 28,500 60%
JEES CFIE) JAL JAL 28,500 60%
KBk (Fa#E) =)l PNAGEDES CHH) JAL JAL 28,500 60%
JEES CFIE) JAL JAL 28,500 60%
KB (5 =8IEk ABR (51 % (HA) JAL JAL 36,300 48%
HIER 5 (HA) JAL JAL 36,300 48%
PNAGCEIES T PNAGEDES (HA) JAL JAL 36,300 48%
HIER S (HA) JAL JAL 36,300 48%
KR (#FH =FIE ABR (5 (HA) JAL JAL ,300 4
BILFE CHH) JAL JAL ,300 4
KB (FAE8) =I5 PNAGEDES (HA) JAL JAL ,300 4
BIL CHH) JAL JAL ,300 4
KR (5 =R ABR (51 (HA) JAL JAL 36,300
B CHH) JAL JAL 36,300 4
KB (FAdE) =EREE AR (BA7E) % (HA) JAL JAL 36,300 4
B CHH) JAL JAL 36,300 4
ABR (51 % (HA) JAL JAL .700 4
=ZR% CFIH) JAL JAL .700 47
PNAGEDES (HA) JAL JAL .700 47"
ZiRE FIE) JAL JAL .700 47
KB (5 =Rt ABR (F#F1) % HE JAL JAC 20,500 43
[ETE: HE JAC JAL 20, 43%
AR (R =8F8 | KREFHH ERE JAL | JAL/JAC ] 28%
BYe% ERE JAL/JAC| JAL 1 28%
AR (R =85 ABRUFFF | 0 (IRE) JAL | JTA/RAC I 43%
EEE PR (R | JTA/RAC]  JAL i 43%
KRk () ==& PNAGCGEIE 1€ ) JTA | JTA/RAC X 43%
TS PR (R | JTA/RAC]  JTA I 43%
KR (FH =F1E ABRUEFF | b (IRE) JAL | JTA/RAC 4, 48%
fiE SRR (BE) | JTA/RAC|  JAL 4, 48%
KR (FadE) =HiE PNAGCGEIE 16 ) JTA [ JTA/RAC 4, 48%
AiE% P8 (BBEA) | JTA/RAC]  JTA 4, 48%
2EE(RE) =%im5l | BEE (PED) % | A% (FF k) JAL JAL 4 0%
ESRIES ALIR (L Fi) [ JAL JAL 4 0%
2EE(RE) =20 [ REE (P | B EH) JTA | JTA/RAC i 44%
BHE PEB(IBER) | JTA/RAC]  JTA ! 44%
2EE(RE) =R1E [ RHE (P | B FH) JTA | JTA/RAC I 49%
HIEE P8 (BBER) | JTA/RAC]  JTA X 49%
ARETTFR) =/ [ ALIR G Tm) % (FIH) JAL JAL 1 ]
IMAFE CHH) JAL JAL 7 o
HLIR (BT F %) =mfe R ALIR( %fﬁ'—ﬁ CRIR) JAL JAL X 4%
EGIE] CHH) AL AL ,800 4
ARG TR =L | ALE( ﬁ%’-ﬁ CHH) AL AL ,800 55%
[T CHE) AL AL ,800 55%
ARFTFR =58 [AEEFTEE CHH) AL AL ,600 54%
B% CHH) AL AL ,600 54%
AR F TR =0T AR FTR) R (PIH) AL AL ,200 55%
IM=E3F3 (HA) AL AL ,200 55%
FIRCGTTFR) =HE [ AL0R( ﬁ?ﬁ (RH) AL AL .500 56%
( ) JAL JAL 5 56%
ARG TFR) =88 | ALR( %ﬁ%ﬁ [€2L::D) JAL JAL 7 55%
BER CHH) JAL JAL 7 55%
HEFHTR) =R thﬁ FTm) % CRH) JAL JAL 5 5
i CHH) JAL JAL 5 5.
AR GTR =58 | ARGTEE (HA) JAL JAL 4,7 5.
BHFE ( ) JAL JAL 4,7 5.
AR GTR =l | ARGTE % [€2L::D) JAL JAL 6,7 5
[NITE (HA) JAL JAL 6,7 5
HREFTR =AM ARGTH % CRH) JAL JAL 5, 5
EZTLES ( ) JAL JAL 5% 5
REFTTFR) =K7 AR FTE) ( ) JAL JAL 5% 55
ADE (HA) JAL JAL ¥ 55%
AREFTFR) =R | ARG TR E [€2L::D) JAL JAL i 55%
ECE (HA) JAL JAL i 55%
ARG TFR) =E [ AREGTR)E [€2L::D) JAL JAL Al 55%
REAE (HA) JAL JAL B 55%
ARGFTFR) =20 | ARG TFRIFE | RRCHAE) | JAL JAL 36,90C 54%
B FE CHH) JAL JAL i 54%
ARG TR =ERE| AREF TR R (HA) JAL JAL 41, 50%
EREE (HA) JAL JAL 41, 50%
ARGFTR) =REBH | AR FTR)E (HA) JAL JAL 42, 50%
KBR( ) JAL JAL 42, 51
AR (BE7E) JAL JTA 42, 51
AEE(PED) [ JAL JTA 42, 51
12 JAL JTA 42, 53
B R | RKE(HE) JAL JAL 42,
AR (FF) JAL JAL 42,
PNAGD) JTA JAL 42,
AEE(PE) [ JTA JAL 42,
el JTA JAL 42,
WREFTFR) =FE [ ARFTE)E | FR(HHE) JAL JTA
BEE R CRE) JTA JAL
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& =%imAl [EEES HE(FA) JAL JAL 42,400 52%
AL B FR) | JAL JAL 42,400 49%
ESHES R CFE) JAL JAL 42,400 52%
AR TR | JAL JAL 42,400 49%
&=l EEE IR (CHHE) JAL JAL 400 7
JEIES CRIE) JAL JAL 7.400 7
[T S EEEE CHH) JAL JAL 6,900 7"
S (HA) JAL JAL 36,900 7
[HERETDN 2 (HA) JAL JAL 36,500 7
BIL CHH) JAL JAL 36,500 7
[HERET & | ®E(CHEA) JAL JAL 42,400 6
ABR (51 JAL JAL 42,400 39%
33 HE(HA) JAL JAL 42,400 46%
AR (FE) JAL JAL 42,400 39%
BE=F% [EES FE(CHA) JAL JAL 200 49%
ABR (51 JAL JAL 39,200 41%
HEHRE HE(HA) JAL JAL 39,200 49%
ABR (51 JAL JAL 39,200 41%
[HEEED EEEES HE(HA) JAL JAL 40,800 46%
ABR (51 JAL JAL 40,800 40%
ZiR% HE(HA) JAL JAL 40,800 46%
KR (G5 JAL JAL 40,800 40%
1B =1c% EEES AR (1) JAL JAL 40,400 38%
LR AR (FFD JAL JAL 40,400 38%
1EfE = [EEES HE(HA) JAL JAL 500 49%
ABR (51 JAL JAL 500 43%
HER HE(HA) JAL JAL 500 49%
ABR (51 JAL JAL 500 43%
18R =1L EEEES HE(HA) JAL JAL 000 49%
ABR (51 JAL JAL 000 50%
itZ3 HE(HA) JAL JAL 000 49%
KR (551 JAL JAL 000 50%
1B =35 2 AR (FF1) JAL JAL 25,700 56%
ik AR (FF) JAL JAL 25,700 56%
1ERE =/ &l HE(FA) JAL JAL 27, 59%
M R (FA) JAL JAL 27, 59%
EE=5H &l B (BRER) JTA | JTA/RAC 26, 48%
= 4% (B0 | JTA/RAC| JTA 26, 48%
BE=FR1E & ETACE ) JTA__| JTA/RAC 27,
AiE P8 (BRER) | JTA/RAC]  JTA 27 )
Zimpl=1E% ST FR) [ JAL JAL 25, ]
TE2 3 (FFik) | JAL JAL 25, 3
ZimBl=1lE ST (FFik) | JAL JAL 25, 55%
fill £ 2 (FFik) | JAL JAL 25 55%
ZEB =" ESTES (FFik) | JAL JAL 26 4%
i R (FFam) | JAL JAL 26 4%
iR =M ESTHES = (FH) JAL JAL 4, 3%
IR CHH) JAL JAL 4, 3%
XimRl =R EE B EER [€2L::D) JAL JAL 7. 3%
kBl =l ST CHH) JAL JAL 7,7 4%
] LLI 5 CRR) JAL JAL 7,70 4%
ZHBl=LE5 ST CHH) JAL JAL 4 1%
&% | RECHEA) JAL JAL 4 1%
ARG [ JAL JAL 4 48%
ZiHBl=HE ESTHES = (FH) JAL JAL 3 4%
HE ( ) JAL JAL 4%
Zim R =l ESTHES CHH) JAL JAL 0%
EAIIE:: | ®ECHHE) | JAL JAL 1,50C [ 50%
ZiwmR=h1E i CHH) JAL JTA A 49%
( ) JTA JAL A 49%
JEIETNA ( ) JAL JAL A 7%
( ) JAL JAL A 57"
feJII=FiaE ( ) JAL JAL 7.7 52
( ) JAL JAL 7.7 52
FEJI=MEW ( ) JAL JAL 7,7 5.
( ) JAL JAL 7,7 5.
BJI=HE ( ) JAL JAL A 5.
( ) JAL JAL A 5.
I =#21l (HA) JAL JAL 41,5 49
CHIH) JAL JAL 4 49%
NI=F1E ( ) JAL JTA 54 52
( ) JTA JAL 4 52
SER =N CHH) JAL JAL 4 5
( ) JAL JAL 4 5
Sk =mfaE (FHA) JAL JAL 7,7 5
( ) JAL JAL 7,7 5
SEE=Rl [€2L::D) JAL JAL i 53
( ) JAL JAL I 53
S =158 [€2L::D) JAL JAL 40, 50
( ) JAL JAL 40, 50%
S =HE [€2L::D) JAL JAL 36,4 53%
( ) JAL JAL 36,41 53%
SR =421l (HA) JAL JAL 41,51 49%
( ) JAL JAL 41,5 49%
fik="18 CHH) JAL JTA 57,5 49%
( ) JTA JAL 57,5 49%
WwIL=/ CHH) JAL JAL 32,3 53%
CHIH) JAL JAL 32.3 53%
HL=FEER (HA) JAL JAL 7,7 51
(PIH) JAL JAL 7,7 51
HL=RW (HA) JAL JAL 7.7 52
(PIH) JAL JAL 7,7 52
HE=HE (HA) JAL JAL A 53
(PIH) JAL JAL Al 53
L=t (HA) JAL JAL 501 48%
(PIH) JAL JAL 41,50 48%
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HL=R1E BILFE CHH) JAL JTA 56,700 4
aEH CRIE) JTA JAL 56,700 4
B =/ B (FA) JAL JAL 28,900
IMASE CHH) JAL JAL 28,900 53
EHEE=FRAE ERAESE CHH) JAL JAL 6,600 47%
B EER CHH) JAL JAL 6,600 47%
A= B CHH) JAL JAL 7,600 46%
[ET} CFIH) JAL JAL 7.600 46%
EE=L8 B CHH) JAL JAL 39,500 44%
L& CFIE) JAL JAL 39,500 44%
EE=HE 3 | ®E(CHEA) JAL JAL ,300 49%
ABR (51 JAL JAL ,300 47%
HER HE(HA) JAL JAL ,300 49%
ABR (51 JAL JAL ,300 47%
EEE=HAL 33 HE(HA) JAL JAL 39,300 46%
ABR (51 JAL JAL 39,300 38%
[AITES HE(HA) JAL JAL 39,300 46%
ABR (51 JAL JAL 39,300 38%
EEE=dL M S 3R (CHHE) JAL JAL 28,600 63%
JLAMFE 5 CRIE) JAL JAL 28,600 63%
EE=X5 EHERR | ®E(CHEA) JAL JAL ,900 56%
ABR (51 JAL JAL ,900 49%
AOH HE(HA) JAL JAL ,900 56%
ABR (51 JAL JAL ,900 49%
EE=RE 33 HE(HA) JAL JAL ,200 56%
ABR (51 JAL JAL ,200 52%
R HE(HA) JAL JAL ,200 56%
ABR (51 JAL JAL ,200 52%
EE=EA EHERR HE(HA) JAL JAL ,200 55%
ABR (51 JAL JAL ,200 51%
AR HE(HA) JAL JAL ,200 55%
ABR (51 JAL JAL ,200 51%
EE=2& EHERR HE(HA) JAL JAL ,200 55%
KR (55 JAL JAL 200 51%
HEES HE(FA) JAL JAL ¥ 55%
ABR (51 JAL JAL E 51%
EE=ERS 3 HE(HA) JAL JAL B 55%
ABR (51 JAL JAL B 52%
BREE HE(FA) JAL JAL B 55%
ABR (51 JAL JAL B 52%
EHEE=Fh18 R R (CRH) JAL JTA ; 51%
aE CHIH) JTA JAL ; 51%
BHR=I & (HA) JAL JAL 26, 55%
M CHH) JAL JAL 26, 55%
BEHR=mfaE HHE (HA) JAL JAL , 55%
FfCEER (HA) JAL JAL , 55%
BEH=EL Hix [€2L::D) JAL JAL , 56%
R CFIE) JAL JAL . 56%
BEH=L5 & [€2L::D) JAL JAL [ 55%
EE [€2L::D) JAL JAL [ 55%
FH=ILOFH HHE (HA) JAL JAL X 56%
WO FEFE CHH) JAL JAL 7 56%
BEH=HE HEHRE | RE(CHEA) JAL JAL , 55%
KB (5 JAL JAL . 53%
HER HE(HA) JAL JAL . 55%
KR (D JAL JAL , 3
BH=0ES Eid R CRE) JAL JAL ,100
B% | RRCHE) | JAL JAL 32,100
BEHR=mh it [€2L::D) JAL JAL X )
S [€2L::D) JAL JAL X 3
BEH=mH o (HA) JAL JAL K )
=405 ( ) JAL JAL [ 5
FEH=HL BRR | RE(CHA) JAL JAL i 52
ABR( ) JAL JAL X 45
[AITES HE(HA) JAL JAL X 52%
AR () JAL JAL X 45%
FH=LAM FHRR IR (CHH) JAL JAL 7 57"
EZTLES = (FIH) JAL JAL 7 57"
BH=KS BEHRE | RE(HEA) JAL JAL 4, 54
ABR( ) JAL JAL 4, 46
K% HE(HA) JAL JAL 4, 54
AR (FFH) JAL JAL 4, 46
BEH=RE BEHRE HE(HA) JAL JAL 4 54
AR (FFH) JAL JAL 4 49
R HE(HA) JAL JAL 4 54%
AR (FF) JAL JAL 4 49%
BEHR=RAX BEHRE HE(HA) JAL JAL A 52
AR (FF) JAL JAL 4 47"
REAFE HE(HA) JAL JAL 4 52
AR (FFH) JAL JAL 4 47"
BEHR=25 BEHRE HE(HA) JAL JAL A 52
AR (FFH) JAL JAL 4 47"
EEES HE(HA) JAL JAL 4 52
AR (FF) JAL JAL 4 47"
EHR=ERE ERE HE(HA) JAL JAL 7, 52
ABR () JAL JAL 7, 48
ERBEE HE(HA) JAL JAL 7, 52%
ABR () JAL JAL 7, 48%
HEH=RE ERRE HE(HA) JAL JTA 49, 52%
RiER HE(HA) JTA JAL 49, 52%
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SiR=/ME CHH) JAL JAL 26,800 54%
CRIE) JAL JAL 26,800 54%
=mREE CRIE) JAL JAL 30,100 55%
CRIE) JAL JAL 30,100 55%
ZR=RW CRIE) JAL JAL 30,100 56%
CRIE) JAL JAL 30,100 56%
ZR=IEB = iR% [€2L::D) JAL JAL ,000 55%
=) CFIE) JAL JAL 000 55%
ZR=WOFE = iR%E (HA) JAL JAL ,700 55%
WOFEps (HA) JAL JAL ,700 55%
SiR=HE =iR% (HA) JAL JAL 30,100 55%
KR (B JAL JAL 30,100 54%
HE HE(HA) JAL JAL 30,100 55%
ABR (51 JAL JAL 30,100 54%
R = (HE) JAL JAL 31,600 53%
5 CHH) JAL JAL 31,600 53%
R CFIH) JAL JAL 30,100 55%
A CFIH) JAL JAL 30,100 55%
ZR=&4 R CFIH) JAL JAL 30,100 57%
CFIH) JAL JAL 30,100 57%
R EESEED) JAL JAL ,800 52%
ABR (51 JAL JAL ,800 46%
EATIES HE(HA) JAL JAL ,800 52%
ABR (51 JAL JAL ,800 46%
3R (CHHE) JAL JAL ,700 57%
= CHH) JAL JAL ,700 57%
| RECHEA) JAL JAL 4,600 53%
ABR (51 JAL JAL 4,600 47%
AOH HE(HA) JAL JAL 4,600 53%
ABR (51 JAL JAL 4,600 47%
ZiR% HE(HA) JAL JAL 36,400 53%
ABR (51 JAL JAL 36,400 50%
R HE(HA) JAL JAL 36,400 53%
KR (55 JAL JA 36,400 50%
ZiR% HR CRIE) JAL JAL 4 52%
AR (FF) JAL JAL 4 48%
RERFE HE(HA) JAL JAL 4 52%
AR (FF) JAL JAL 4 48%
ZiR=E& ZiR% HR CRIE) JAL JAL 4 52%
AR (FF) JAL JAL 4 48%
EEES HE(HA) JAL JAL 4 52%
AR (FF) JAL JAL 4 48%
RE ZiR% HE(HA) JAL JAL I 52%
ABR (51 JAL JAL 7, 49%
BREE HE(FA) JAL JAL 7, 52%
ABR (51 JAL JAL 7, 49%
ZiR=%R1E =R = (HH) JAL JTA 49 52%
Al CHIH) JTA JAL 9, 52%
E=/M FAE [€2L::D) JAL JAL 26, ]
/M [€2L::D) JAL JAL 26, 3
ME=FMLEE RER (HA) JAL JAL 26, 3
FfCEER ( ) JAL JAL 26, ]
FE=FWL B [€2L::D) JAL JAL 26, ]
R CFIE) JAL JAL 26, 7%
ME=LE *E CHH) JAL JAL 28, 55%
LE: CFIE) JAL JAL 28, 55%
HBE=LOFH EE CHH) JAL JAL 31, 54%
WO FEF CHH) JAL JAL 31, 54%
HE=HE PR F (HA) JAL JAL 26, 56%
KB (5 JAL JAL 26, 55%
HER HE(HA) JAL JAL 26, 56%
AR () JAL JAL 26, 55%
HE=E GES R (HHE) JAL JAL 26, 57"
£ CHE) JAL JAL 26,800 57
HE=FR GES (HA) JAL JAL 28,500 54
# ( ) JAL JAL 28,5 54
ME=8H GES [€2L::D) JAL JAL 28,51 55
i3 ( ) JAL JAL 28, 55%
FE=H0 KB % | RE(HEA) JAL JAL . 53
ABR( ) JAL JAL , 47
[AITES HE(HA) JAL JAL , 53
KR (B FH JAL JAL , 47
E=dhM FRE IR (CHH) JAL JAL [ 56
E&T0ES = (FIH) JAL JAL [ 56
BE=X% ER | RE(CHEA) JAL JAL [ 55
KB (5 JAL JAL J 48%
RN % HE(HA) JAL JAL [ 55%
ABR () JAL JAL [ 48%
HE=FRE ER HE(HA) JAL JAL 7 55%
AR () JAL JAL 7 51%
R HE(HA) JAL JAL 7 55%
AR () JAL JAL 7 51%
FE=RX ER HE(HA) JAL JAL 7 53%
ABR () JAL JAL 7 49%
REAFE HE(HA) JAL JAL 7 53%
ABR (1) JAL JAL 7 49%
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A== ER HE(FH) JAL JAL 700
ABR (51 JAL JAL 700 4
EEES R CRE) JAL JAL 700

ABR (51 JAL JAL 700 4

HBE=ERS ER HE(FA) JAL JAL ,900 3
ABR (51 JAL JAL ,900 50%
RB% HE (CHEA) JAL JAL ,900 53%
ABR (51 JAL JAL ,900 50%

HE=FRIE i R CFE) JAL JTA 41,100 57
= R CHE) JTA JAL 41,100 57

EE=HE e AR (FF1) JAL JAL 29,600 52
HEH KR (51 JAL JAL 29,600 52

&=l 1t AR (1) JAL JAL 30,500 49
# AR (FF1) JAL JAL 30,500 49%
EE=X% 1t AR (FF1) JAL JAL 2,200 48%
A5 AR (FF1) JAL JAL 2,200 48%
TEE=RIE S AR (FF1) JAL JAL 4,600 50%
7 AR (FF1) JAL JAL 4,600 50%
EE=RkA & AR (FF1) JAL JAL ,400 50%
JES AR (FF1) JAL JAL ,400 50%
EE=& fiE=3 AR (FF1) JAL JAL ,400 50%
=] JAL JAL ,400 55%
EEES AR (FF) JAL JAL ,400 50%
12 JAL JAL ,400 55%

EE=ERE TEEH AR (FF1) JAL JAL 4,600 1
FEE) ABR (51 JAL JAL 4,600 1

i =/ Lz EACLED) JAL JAL 4,900 44
NV CFIH) JAL JAL 4,900 44

Wit =Ml I3 CFIE) JAL JAL 26,000 1
R CFIH) JAL JAL 26,000 1

W =E8 2 (FIH) JAL JAL 28,400 48
L& CFIE) JAL JAL 28,400 48%
Wiz =1LOFE hiZ3 (HA) JAL JAL 30,100 49%
I=E3E3 (FA) JAL JA 30,100 49%
W =HE iZ3 | RECHA) JAL JAL 284 45%
KB (5 JAL JAL 28,4 51%
HER HE(HA) JAL JAL 284 45%
AR (FF) JAL JAL 284 ]
W =15 L R (CRH) JAL JAL 27, 49%
EE (HA) JAL JAL 27, 49%
Wi =@ L [€2L::D) JAL JAL 26, 3
I ( ) JAL JAL 26 o
Wiz =@ LI ( ) JAL JAL 26, o
B CFIH) JAL JAL 26, 3
Wiz =#21L Wiz | BER( ) JAL JAL 26 52%
KB (5 JAL JAL 26, 52%
[AITES HE(HA) JAL JAL 26, 52%
ABR (51 JAL JAL 26, 52%
Wiz =3t A NZ3 R (CRH) JAL JAL K 49%
EZTLES = (HH) JAL JAL [ 49%
W =X% 23 | RECHA) JAL JAL X 49%
KB ( ) JAL JAL X 49%
R % HE(HA) JAL JAL X 49%
ABR (51 JAL JAL X 49%
iy =Rl itZ3 HE(HA) JAL JAL X 48%
ABR (51 JAL JAL 7 50%
R HE(HA) JAL JAL 7 48%
ABR (51 JAL JAL 7 0%
Wiz =REA ITZ3 HE(FA) JAL JAL K 49%
ABR (51 JAL JAL K 3
RERFE HE(HA) JAL JAL [ 49%

AR () JAL JAL [ 5

i =2 [ITZ3 HE(HA) JAL JAL [ 49
AR () JAL JAL [ 51%
EEES HE(HA) JAL JAL [ 49%
ABR () JAL JAL [ 51%
L =ERS [ITZ3 HE(HA) JAL JAL 7 48%
ABR () JAL JAL 7 51%
ERBEE HE(HA) JAL JAL 7 48%
AR () JAL JAL 7 51%
Wi =H1E Tz HE(FA) JAL JTA 47,51 45%
hiEH HE(HA) JTA JAL 47,51 45%
e= (S AR (FF) JAL JAL 26,8 53%
HE! R (B JAL JAL 26,8 53%
=#l a AR (FF) JAL JAL 28,5 48%
L% ABR (F#F1) JAL JAL 28,5 48%
e =xX% = AR (FF) JAL JAL X 47%
AHH ABR (F#F1) JAL JAL X 47%
Rk S AR (FF) JAL JAL 7 49%
R 5 ABR (51 JAL JAL 7 49%
e =% a AR (FF) JAL JAL 1.0 50%
RERFE AR (FF) JAL JAL 0 50%
e =5 = AR (FF) JAL JAL 7 47%
= I 5 ABR (F#F1) JAL JAL 7 47%
ue=ER = AR (FF) JAL JAL 7 50%
ERBEE AR () JAL JAL 7 50%
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OI7—RMISARMEIG|7(S T RER (WER) 121X 7=18,000/ %N

XI7—REHOSRIERE (FE) =XB (F) . EE. AR, Hik(EH) BISWELTEYET.
oo .
=40} fid::::0) BEs 10/8-10/11,10/15-10/26 gﬁ;g wE
RMO | XM i
FR=HE HiBH AR (1) JAL JAL 24,300 56%
HEH KR (51 JAL JAL 24,300 56%
FE=tL HinH AR (1) JAL JAL 26,800 49%
[NITE R (5D JAL JAL 26,800 49%
HR=K5 HiH AR (1) JAL JAL 28,500 48%
ARH KR (51 JAL JAL 28,500 48%
HR=RIE iR AR (1) JAL JAL 31,000 50%
5 KR (51 JAL JAL 31,000 50%
FR=RA ik AR (FF1) JAL JAL 30,100 50%
ES KRR () JAL JAL 30,100 50%
FR=2& ik AR (FF1) JAL JAL 30,100 50%
) AR (FF1) JAL JAL 30,100 50%
FR=ERE i AR (1) JAL JAL 31,000 1
B AR (FF) JAL JAL 31,000 1
M= IV 5 CRIE) JAL JAL 25,400 7
[T} CFIE) JAL JAL 25,400 7
IMA=IRE NV CFIE) JAL JAL 26,000 7
R8s CHH) JAL JAL 26,000 7
MA=ILAFE I (HA) JAL JAL 29,100 55%
=g (HA) JAL JAL 29,100 55%
IMA=HE IMAFE (HA) JAL JAL 26,400 4
HEH CFIE) JAL JAL 26,400 4
IMEA=EE /Iy (HA) JAL JAL 25,500 7
& CHH) JAL JAL 25,500 7
IME=EH N CHH) JAL JAL 4,900 58
& CFIE) JAL JAL 4,900 58%
MA=EE I CFIH) JAL JAL 7.300 55%
& CFIE) JAL JAL 7.300 55%
M= /N CFIE) JAL JAL 26,800 56%
Ll CHH) JAL JAL 26,800 56%
M= IV CFIE) JAL JAL 29,100 57
LAMFE CFIH) JAL JAL 29,100 7
IME=K5 /1M (HA) JAL JAL 29,900 4
b CFIE) JAL JA 29,900 4
IME=RIE /M (HA) JAL JAL 7 3%
RIB ( ) JAL JAL X a
IME=FREA 7 [€2L::D) JAL JAL 4%
REK (HA) JAL JAL 4%
IMA=T I M CHH) JAL JAL 4%
= (HA) JAL JAL 4%
IME=ERE IV [€2L::D) JAL JAL )
ER ( ) JAL JAL 7 o
IMA=EE IV 8 () JTA | JTA/RAC 7 43%
B (¥ | JTA/RAC|  JTA 7.7 43%
IME=F1E IV (HA) JAL JTA 8%
€] JTA | JTA/RAC 46%
RIER L (CFIE) JTA JAL 8%
SR8 (IBER) | JTA/RAC|  JTA 46%
BL=8% Rl Ly B (BRER) JTA | JTA/RAC 39%
B PR (R | JTA/RAC]  JTA )
EL=%1E Rl LY SR (ARSR ) JTA | JTA/RAC 41%
HiE P8 (BBER) | JTA/RAC]  JTA 41%
BHN=EE Bl fi={] JAL JAL 44%
ELES =] JAL JAL 7, 44%
() =FH B R | R (HE) JAL JAL 41,4 49%
ABR (51 JAL JAL 41,4 49%
BEHRE HE(HA) JAL JAL 41,4 49%
AR (FF) JAL JAL 41,4 49%
(R ==IR hEE (BRER) 3 ( ) JAL JAL 414 48%
SRS = (FH) JAL JAL 414 48%
(R =R E R (AR IR (CHH) JAL JAL , 50%
ABR( ) JAL JAL 7,71 51%
ER HE(HA) JAL JAL 7.7 50%
ABR (F#F1) JAL JAL 7.7 51
B (IRER) =1EB EEIE O E S PN G 2E)) JAL JAL 4 52
12 JTA JAL 4 54
TEER R (FFH JAL JAL 4 52
] JAL JTA 4 54
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[E#BE|7 1 EER(10ABA~10A26HESES)

QT7—AMISARMKE|7(X TRER (IHER) I<1 X #H7-Y8,000M % mAE

KI7—REHSRIGII CAE) =K (G . 8. #08. sl GBE) BISREL THYET,
BmEs e
=4) fid:::10) B 10/8-10/11,10/15-10/26 gﬁ;g wE
RMO | XM i
B (IRER) =Rz HEE(BRE) % | R CRHE) JAL JAL 7,700 43%
AR (FF) JAL JAL 7,700 50%
I3 R (FE) JAL JAL 7.700 43%
AR (1) JAL JAL 7,700 50%
HEE (IR =(LE SRR (BB R | KR (FF JAL JAL 39,700 47
=] JTA JAL 39,700 1
(T3 AR (FF1) JAL JAL 39,700 47"
El] JAL JTA 39,700 1
BB (IRER) = /M PR CRE) % | RRE(FE) JAL JAL 36,600 49
AT HE(FA) JAL JAL 36,600 49%
PR G == A0 2 JTA JAL 26,400 55%
18 JAL JTA 26,400 55%
P8 GIRER) =+ e JTA JAL 4,600 55%
&l JAL JTA 4,600 55%
TR CRE) =R RRCPE)E | KRB JAL JAL .700 38%
HE JAL JAC .700 33%
it KR (FFD JAL JAL .700 38%
HE JAC JAL .700 33%
RRCAE) =BXXE| RRCRHE)R BRE JAL | JAL/JAC ,700 38%
KR (D JAL JAL 43,700 35%
BEERER ERE JAL/JAC| JAL 43,700 38%
KR (D JAL JAL 43,700 35%
RRCAE)=ER:B | RRCAE)R ERE JAL JAC 43,800 39%
BEAE AL JAC 43,800 31%
BERBE | _EREB JAC AL 43,800 39%
BEEAE JAC JAL 43,800 31%
HR(PE) =28 | ERPEH% | ERS JAL | JAL/JAC 44,800 40%
BERE JAL JAC 45,600 33%
[FA-E ERE JAL/JAC| JAL 44,800 40%
BEEAE JAC JAL 45,600 33%
RN CRE) =K RE | BR CRHE) % BER JAL JAC 46,800 40%
3 5 JAC JAL 46,800 40%
RRCAE) =53/ JAL JAC 47,200 41%
JAC JAL 47,200 41%
KR (FH =BEZXE JAL | JAL/JAC i 8%
JAL/JAC| JAL K 8%
AR (D =ERE JAL JAC I 3%
5 JAL JAC i 25%
JAC JAL i 33%
5 JAC JAL i 25%
KR (B =828 JAL | JAL/JAC I 35%
EYN-] JAL JAC 40, 28%
BB ERE JAL/JAC| JAL I 35%
ESN-] JAC JAL 40, 28%
KIR (5 =ik BED | KR (B % fEE ) JAL JAC 41, 5%
sk B DS 2 JAC JAL 41, 5%
KR (FH = RBR (5 Fe ) JAL JAC 41, 7%
BEAE AL JAC 41,800 4%
ERE JAC JAL 41,800 7%
BE=EXZXE ERE JAC [ JAL/JAC 30,700 36%
ERE JAL/JAC| _JAC 30,700 36%
BE=EFE BEXE AL JAC ,100 33%
EFN) JAC JAL ,100 33%
BE=BZ5 ERE JAC [ JAL/JAC ,200 38%
EERE AL JAC ,200 38%
ERE JAL/JAC| _JAC 200 38%
BEAE JAC AL ,200 38%
BE=mAKRE ERE JAC JAC ,700 9%
ERE JAC JAC ,700 9%
BE=5H BEXE AL JAC ,100 42%
7 3 5 BEXE JAC AL 4,100 42%
RR(PE)=58E | BRCHAH)F AiE JTA RAC ,100 46%
EX =R TR (B RAC AL 43,100 46%
aiE RAC JTA 43,100 46%
AR (B =53E SMEFE TR (B RAC AL ,400 46%
KR (BS#E) =53E | KR (B9FE) AiE JTA RAC ,400 42%
EX =R TR (B RAC JTA ,400 46%
8 RAC JTA 400 42%
%EE(EP“{% =53E R (R E) RAC JTA ,400 48%
B =53 E TR () RAC JTA ,300 44%
P GRE) =5HE 8 JTA/RAC|__RAC 700 49%
RAGC__| JTA/RAC ,700 49%
R (HE) =AKE T JAL | JTA/RAC 400 35%
B JTA/RAC|__JAL 400 35%
KR (B =AKE ] JAL | JTA/RAC 700 4
B JTA/RAC|__JAL 700 4
KR () =AXEB | ik JTA [ JTA/RAC ,700 4
B JTA/RAC|__JTA 700 4
ZEHE (P =AXE T JTA__| JTA/RAC 700 35%
B JTA/RAC|__JTA 36,700 35%
BRE=AKE [ JTA [ JTA/RAC 27,900 36%
B JTA/RAC|___JTA 7.900 36%
W) =R PN AL AL 40,700 44%
KR AL AL 40,700 44%
BRE=FKEFH TR EE AL AL 41,300 48%
EX AL AL 41,300 48%
BH=%mA 18 ( AL AL ,000 53%
18 AL AL ,000 53%
ME=%m5 % ( AL AL ,000 56%
X AL AL ,000 56%
AT E (b aEp) =8 %EE(@:”B)% 5 JAL JAL 33,700 48%
EEEE JAL JAL 33,700 48%
ZEE(PE) =FL %EE(@:”B)% JAL JAL 33,700 48%
L% JAL JAL 33,700 48%
ZEE (RER) =Bl %EE(EP"B)% JAL JAL 33,700 49%
BJI % JAL JAL 33,700 49%
AEE(PE) =@ [ ZEE(PE R JAL JAL 32,100 43%
ERAESE JAL JAL 32,100 43
HR(AHE) =ER R CHE) % JAL JAL 30,600 41
EXE JAL JAL 30,600 41
AR (B FH =B/ EXE JAL JAL 46,500 4
RR) =88 B (BRER) JTA JAL 29,300 1
BER JAL JTA 29,300 1
LR (EXK) =8FR ALIR (L 3%) % JAL JAL 18,100 49%
EXE JAL JAL 18,100 49%
SR =putR EEE JAL JAL 20,200 51%
ERAESE JAL JAL 20,200 51%
#ig==IR SRS JAL JAL 4,200 48%
=R% JAL JAL 4,200 48%
FIR=EfE FRFE JAL JAL 4,200 45%
ERAESE JAL JAL 4,200 45%
FIR =4I FIFRFE JAL JAL 4,200 49%
SRS JAL JAL 4,200 49%
=R% JAL JAL 25,300 48%
BEAER JAC JAC ,800 39%
Sk REDSE JAC JAC ,800 39%
B2 &= (M) BB o JAC JAC ,300 43%
MBCPE) R i JAC JAC 300 43%
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